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Worksheet (DTQ)- Congruence of Triangles

SHORT ANSWER TYPE QUESTIONS. (2 Marks each)

P M
Are the given triangles congruent? If yes, state
o Py the congruence criteria. State the corresponding
Q1. % % parts
Q@ 3cm R N 3em L
? M
Q
go 140°

L S
Q2. N+ ”W
~140°

In the adjoining figure, ANMQ = A TRS, state
the congruence criteria used and the
corresponding parts of the triangles.

a In the following figure, show that APSQ =APSR.
Q3. %, Mention the congruence criteria.
R
L 0 In the given figure, state the rule of congruence
followed by congruent triangles LMN and ONM, if
Q4 LN=OM and LM =ON

nr
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Q5.

In the figure, ABCD is a rhombus. State which
pairs of triangles are congruent and write the
result in symbolic form. State the congruence

criteria used.

LONG ANSWER TYPE (3 Marks)

Q6.

A B

In the given figure, AP = BQ, PR = QS. Show that
AAPS = ABQR

Q7.

In the given congruent triangles under ASA, find
the value of x and y, APQR =ASTU.

Qs.

To show A PQS= A PRS in the following proof,

write the missing reasons.

PQ=PR and PS is the bisector of 2QPR.
Statement Reason
i) PQ=PR e
i) 2QPS = «RPS
i) PS=PS
iv) A PQS= A PRS

Q9.

In figure AB and CD bisect each other at the
point O.

(i) Show that AAOC = ABOD

(i) Is 2A = 2D? Why?

(i)  Is AC= BD? Why?
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In Figure, | [mand PQ-Lland RSL1.1Is A

P R
]
> PQS= A R
Q10 SQ? Give reasons.
o |
Q 5

LONG ANSWER TYPE-. (4 Marks )

In the given figure, PQR is a triangle in which PQ
= PR. QM and RN are the medians of the
triangle. Prove that

() ANQR = AMRQ

(i) QM = RN

(i) APMQ = APNR

Qil.

In the figure, ray AZ bisects DAB as well as

Q12. ¢ (i) Is ABAC= ADAC?Is AD= AB? Why?

(iii) Is DC= BC? Why?

In the adjoining figure, AB = ACand BD = DC.
Prove that

i)AADB = NADC and Hence show that

(ii ) ADB = LADC = 90°

0.13 (iif) BAD = £ CAD.

P
%
Q R
D
<DCB.
(i) State the three pairs of equal parts in
A \7 2> triangles BAC and DAC.
B
/4\
B D C
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In figure, £A =4 B and AO=BO
(D Prove that AAOC= ABOD?

Q14 1) Is £C =2z D? Why?
(III) Is O the midpoint of CD? Why?
Q15. In figure AB and CD bisect each other

()  Show that AAOC= ABOD?
(i)  Is AC=BD? Why?
(i)  Is ACIl BD? Why?

* % %k %
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